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NAME	DATE	PERIOD

Unit 6 Lesson 6: The Slope of a Fitted Line
1 Estimating Slope (Warm up)
Student Task Statement
Estimate the slope of the line.
[image: /app/tmp/embedder-1671034366.4761467.png]

 
Activity Synthesis
[image: /app/tmp/embedder-1671034366.4979208.png]
2 Describing Linear Associations
Images for Launch
[image: /app/tmp/embedder-1671034366.5327754.png]
Student Task Statement
For each scatter plot, decide if there is an association between the two variables, and describe the situation using one of these sentences:
· For these data, as ________________ increases, ________________ tends to increase.
· For these data, as ________________ increases, ________________ tends to decrease.
· For these data, ________________ and ________________ do not appear to be related.
[image: /app/tmp/embedder-1671034366.5745418.png]
[image: /app/tmp/embedder-1671034366.602692.png]
[image: /app/tmp/embedder-1671034366.6347373.png]
3 Interpreting Slopes
Images for Launch
[image: /app/tmp/embedder-1671034366.654899.png]
Student Task Statement
For each of the situations, a linear model for some data is shown.
1. What is the slope of the line in the scatter plot for each situation?
1. What is the meaning of the slope in that situation?

[image: /app/tmp/embedder-1671034366.6767015.png]

[image: /app/tmp/embedder-1671034366.7471337.png]
 

[image: /app/tmp/embedder-1671034366.7677915.png]
4 Positive or Negative?
Student Task Statement
1. For each of the scatter plots, decide whether it makes sense to fit a linear model to the data. If it does, would the graph of the model have a positive slope, a negative slope, or a slope of zero?
· [image: /app/tmp/embedder-1671034366.7896585.png]
1. Which of these scatter plots show evidence of a positive association between the variables? Of a negative association? Which do not appear to show an association?
Images for Activity Synthesis
[image: /app/tmp/embedder-1671034366.8120449.png]
[image: /app/app/assets/images/export/ccby_logo_small.png]
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